# THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

#### Bid Committee Bid Tab

# Bid OCWUT WC-0855-R Ended At Sep 25, 2024 10:00:00 AM CDT CONSTRUCTION/OCWUT - Water Transmission Main

Company:	McKee Utility Contractors, Inc.	United Trenching, Inc.	BELT CONSTRUCTION, INC
Base Bid	\$0.00	\$0.00	\$20,264,302.00
BID ATL 1 STEEL	\$15,640,000.00	\$16,302,985.00	\$15,870,726.00
TOTAL BID:	\$15,640,000.00	\$16,302,985.00	\$36,135,028.00

Dena Smiley	Angee Wagner	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

#### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

#### Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

#### Bid #OCWUT WC-0855-R - Water Transmission Main

Creation Date **Jul 29, 2024** End Date **Sep 25, 2024 10:00:00 AM CDT** 

Start Date Aug 14, 2024 8:05:10 AM CDT Awarded Date Not Yet Awarded

McKee Utility Contractors, Inc. \$15,640,000.00 (98/98 items)

Address 2319 West Main

**Prague, OK 74864** 

Bid Contact Shane McKee

shane@mckeeutility.com

Ph 405-567-7506

Qualific	ations OKC PRE-QUALIFIED CONTRACTORS	T		
Agency I	Notes:	Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT WC- 0855-R- -01-01	Base Bid: AUDIO-VIDEO RECORDING PRE-AND POST- CONSTRUCTION - First Offer	\$0.00	1 / lump sum	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-02	Base Bid: SEDIMENT AND EROSION CONTROL - First Offer	\$0.00	1 / lump sum	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-03	Base Bid: 42-INCH DIP WATERLINE PIPE (with RESTRAINED JOINTs, NOM. WALL 0.53 INCH) - First Offer	· ·	2268 / linear foot	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-04	Base Bid: 42-INCH DIP WATERLINE PIPE (PUSH-ON JOINT, NOM. WALL 0.53 INCH) - First Offer		5668 / linear foot	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-05	Base Bid: REMOVE EXISTING 42 INCH PLUG (SEE NOTE 5, SHEET 4) - First Offer		1 / each	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT	Base Bid: 42 INCH X 45 DEG BEND w/RESTRAINED MJ - First	\$0.00	18 / each	\$0.00

er Transmis	ssion iviain its	Trusts		
WC- 0855-R- -01-06	Offer			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-07	Base Bid: 42 INCH X 11 1/4 DEG BEND w/RESTRAINED MJ - First Offer	\$0.00	4 / each	\$0.00
Product C Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-08	Base Bid: 42 INCH X 24 INCH TEE w/RESTRAINED MJ - First Offer	I .	5 / each	\$0.00
Product C Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-09	Base Bid: 42 INCH PLUG - First Offer	\$0.00	1 / each	\$0.00
Product O Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-10	Base Bid: 42 INCH SPOOL, FxMJ, W/ BLIND FLANGE - First Offer	\$0.00	1 / each	\$0.00
Product C Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-11	Base Bid: 24 INCH X 12 INCH REDUCER w/RESTRAINED MJ - First Offer	\$0.00	5 / each	\$0.00
Product C Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-12	Base Bid: 12 INCH X 6 INCH REDUCER w/RESTRAINED MJ - First Offer	\$0.00	5 / each	\$0.00
Product C Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-13	Base Bid: 24 INCH X 90 DEG BEND w/RESTRAINED MJ - First Offer	\$0.00	3 / each	\$0.00

er fransinission Main	Trusts
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid
OCWUT Base Bid: 12INCH X 90 DEG BEND w/RESTRAINED MJ - First WC- 0855-R01-14	\$0.00 2 / each \$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid
OCWUT Base Bid: WATER SERVICE LINE SHORT (1 INCH) - First Offer WC-0855-R01-15	\$0.00 5 / each \$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid
OCWUT Base Bid: WATER SERVICE LINE SHORT (2 INCH) - First Offer WC-0855-R01-16	\$0.00 2 / each \$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid
OCWUT  Base Bid: METER RELOCATION (5/8 INCH) - First Offer  WC- 0855-R01-17	\$0.00 5 / each \$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid
OCWUT Base Bid: METER RELOCATION (1 INCH) - First Offer WC-0855-R01-18	\$0.00 1 / each \$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid
OCWUT Base Bid: METER RELOCATION (2 INCH) - First Offer WC-0855-R01-19	\$0.00 2 / each \$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid
OCWUT Base Bid: FIRE HYDRANT (ALL JOINTS RESTRAINED MJ) - First WC- Offer 0855-R01-20	\$0.00 5 / each \$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: no bid

	ISSION Main its	Trusis		
OCWUT WC- 0855-R- -01-21	Base Bid: 6 INCH GATE VALVE AND VALVE BOX (RESTRAINED MJ) - First Offer	\$0.00	5 / each	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-22	Base Bid: COMBINATION AIR RELEASE AND VACUUM VALVE AND VAULT - First Offer	\$0.00	7 / each	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-23	Base Bid: HYDROSTATIC PRESSURE TESTING - First Offer	\$0.00	1 / lump sum	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-24	Base Bid: BORING-CASING (RAILROAD CROSSING, 42-IN DIP CARRIER PIPE, 54-IN MIN. DIA.) - First Offer	\$0.00	115 / linear foot	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-25	Base Bid: BORING-CASING (42-INCH CARRIER) - First Offer	\$0.00	271 / linear foot	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-26	Base Bid: SANITARY SEWER (SDR 35 PVC, 15 INCH) - First Offer	\$0.00	65 / linear foot	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-27	Base Bid: CONCRETE ENCASEMENT FOR SANITARY SEWER CROSSING - First Offer		110 / linear foot	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-28	Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY) - First Offer	1	1 / lump sum	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: no bid		

OCWUT	Base Bid: GPS AS-BUILT SURVEY - First Offer	#0.00	4 / 1	
WC- 0855-R- -01-29	base blu. GI 3 AS-DOILI SURVEI - HISt Offer	\$0.00	1 / lump sum	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-30	Base Bid: CONSTRUCTION TRAFFIC CONTROL - First Offer	\$0.00	1 / lump sum	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-31	Base Bid: MOBILIZATION - First Offer	\$0.00	1 / lump sum	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-32	Base Bid: CLEARING AND GRUBBING - First Offer	\$0.00	1 / lump sum	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT E WC- 0855-R- -01-33	Base Bid: REMOVE (AND REPLACE) CURB AND GUTTER - First Offer	\$0.00	331 / linear foot	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-34	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (CONCRETE) - First Offer	\$0.00	311 / square yard	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-35	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (ASPHALT) - First Offer	\$0.00	56 / square yard	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-36	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (GRAVEL) - First Offer	\$0.00	337 / square yard	\$0.00
Product C Agency No		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC-	Base Bid: PAVEMENT CUT AND PERMANANT REPAIR (ASPHALT) - First Offer	· ·	2520 / square yard	\$0.00

i mansiiii	SSIOTI Mail I	Tiusis		
0855-R- -01-37				
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-38	Base Bid: PAVEMENT CUT AND PERMANANT REPAIR (CONCRETE) - First Offer	· ·	125 / square yard	\$0.00
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-39	Base Bid: REMOVE (AND REPLACE) SIDEWALK PAVEMENT - First Offer	\$0.00	10 / square yard	\$0.00
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-40	Base Bid: REMOVE AND REPLACE PARKING LOT PAVEMENT (ASPHALT) - First Offer		1217 / square yard	\$0.00
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-41	Base Bid: REMOVE AND REPLACE PARKING LOT PAVEMENT (CONCRETE) - First Offer		62 / square yard	\$0.00
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-42	Base Bid: RIPRAP (TYPE II WITH FILTER BLANKET) - First Offer	\$0.00	30 / cubic yard	\$0.00
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-43	Base Bid: SOLID SLAB SODDING - First Offer	\$0.00	3572 / square yard	\$0.00
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid		
OCWUT WC- 0855-R- -01-44	Base Bid: TRAFFIC STRIPE (4 INCH) - First Offer	\$0.00	100 / linear foot	\$0.00
Product ( Agency N		Supplier Product Code: Supplier Notes: no bid	1	1

				<b>Lot Total:</b> \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT WC- 0855-R- -02-01	BID ATL 1 STEEL: AUDIO-VIDEO RECORDING PRE-AND POST- CONSTRUCTION - First Offer	\$15,068.00	1 / lump sum	\$15,068.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-02	T	\$85,000.00	1 / lump sum	\$85,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-03	BID ATL 1 STEEL: 42-INCH STEEL PIPE, RESTRAINED JOINT W DBL LAP WELDED JTS, 0.250 IN WT - First Offer	\$1,500.00	2268 / linear foot	\$3,402,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-04	BID ATL 1 STEEL: 42-INCH STEEL PIPE, BELL AND SPIGOT W ROLLED GROOVE RUBBER JTS, 0.250 IN WT - First Offer	\$1,314.00	5668 / linear foot	\$7,447,752.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-05	BID ATL 1 STEEL: REMOVE EXISTING 42 INCH PLUG (SEE NOTE 5, SHEET 4) - First Offer	\$25,000.00	1 / each	\$25,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-06	BID ATL 1 STEEL: 42 INCH X 45 DEG BEND w/RESTRAINED MJ (WSP) - First Offer	\$8,500.00	18 / each	\$153,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-07	BID ATL 1 STEEL: 42 INCH X 11 1/4 DEG BEND w/RESTRAINED MJ (WSP) - First Offer	\$4,500.00	4 / each	\$18,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-08	BID ATL 1 STEEL: 42 INCH X 24 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$4,500.00	1 / each	\$4,500.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-09	BID ATL 1 STEEL: 42 INCH X 6 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$3,000.00	4 / each	\$12,000.00

er rransmission Main	ita	Trusis		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT BID ATL 1 STEEL: 42 IN WC- 0855-R- -02-10	CH X 4 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$2,500.00	7 / each	\$17,500.00
Product Code:		Supplier Product Code:		
Agency Notes:  OCWUT BID ATL 1 STEEL: 42 INC	H SPOOL, FxMJ, W/ BLIND FLANGE -	Supplier Notes: \$15,000.00	1 / each	\$15,000.00
WC- 0855-R- -02-11	First Offer	\$13,000.00	i / eacii	\$13,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	STEEL: 12 INCH X 6 INCH REDUCER w/RESTRAINED MJ - First Offer	\$350.00	1 / each	\$350.00
Product Code:		Supplier Product Code:		
Agency Notes:	LOO DEC DEAD (DECEDADED AN	Supplier Notes:	4.4.1	±450.00
OCWUT BID ATL 1 STEEL: 12 INCI WC- 0855-R- -02-13	H 90 DEG BEND w/RESTRAINED MJ - First Offer	\$450.00	1 / each	\$450.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	H 90 DEG BEND w/RESTRAINED MJ - First Offer	\$250.00	3 / each	\$750.00
Product Code:		Supplier Product Code:	1	
Agency Notes:  OCWUT BID ATL 1 STEE  WC- 0855-R02-15	EL: 12 INCH MEGAL LUG - First Offer	\$200.00	2 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	TEEL: 6 INCH MEGA LUG - First Offer	\$100.00	8 / each	\$800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	SERVICE LINE SHORT (1 INCH) - First Offer		5 / each	\$1,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
	SERVICE LINE SHORT (2 INCH) - First Offer		2 / each	\$3,400.00
Product Code:		Supplier Product Code:		
Agency Notes:  OCWUT BID ATL 1 STEEL: METER I	RELOCATION (5/8 INCH) - First Offer	Supplier Notes: \$1,500.00	5 / each	\$7,500.00
	,			

	SSIOTI Maiti	Trusis		
WC- 0855-R- -02-19				
Product	Codo	Supplier Product Code:		
Agency N		Supplier Notes:		
OCWUT WC- 0855-R- -02-20	BID ATL 1 STEEL: METER RELOCATION (1 INCH) - First Offer	\$1,700.00	1 / each	\$1,700.00
Product Agency N		Supplier Product Code: Supplier Notes:	1	
OCWUT WC- 0855-R- -02-21	BID ATL 1 STEEL: METER RELOCATION (2 INCH) - First Offer	\$4,100.00	2 / each	\$8,200.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-22	BID ATL 1 STEEL: FIRE HYDRANT (ALL JOINTS RESTRAINED MJ) - First Offer	\$8,500.00	5 / each	\$42,500.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-23	BID ATL 1 STEEL: 6 INCH GATE VALVE AND VALVE BOX (RESTRAINED MJ) - First Offer	\$2,500.00	5 / each	\$12,500.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-24	BID ATL 1 STEEL: 4 INCH COMBINATION AIR RELEASE AND VACUUM VALVE AND VAULT - First Offer	\$18,500.00	7 / each	\$129,500.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-25			1 / lump sum	\$20,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-26	BID ATL 1 STEEL: BORING-CASING (RAILROAD CROSSING, 42-IN DIP CARRIER PIPE) - First Offer	\$6,000.00	115 / linear foot	\$690,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-27	BID ATL 1 STEEL: BORING-CASING (42-INCH CARRIER) - First Offer		271 / linear foot	\$1,490,500.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-28	BID ATL 1 STEEL: 42 INCH FLG INSULATING KIT - First Offer	\$3,350.00	2 / each	\$6,700.00

,, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	ssion Main its	Trusts		
Product O Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-29	BID ATL 1 STEEL: 12 INCH FLG INSULATING KIT - First Offer	\$400.00	1 / each	\$400.00
Product (		Supplier Product Code:		
Agency N		Supplier Notes:	4 / each	¢020.00
WC- 0855-R- -02-30	BID ATL 1 STEEL: 6 INCH FLG INSULATING KIT - First Offer	\$230.00	47 each	\$920.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-31	BID ATL 1 STEEL: 4 INCH FLG INSULATING KIT - First Offer	\$37.00	6 / each	\$222.00
Product (		Supplier Product Code:		
Agency N		Supplier Notes:		+22.222.22
OCWUT WC- 0855-R- -02-32	BID ATL 1 STEEL: 42 INCH RESTRAINED FLG COUPLING ADAPTER - First Offer	\$20,000.00	1 / each	\$20,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-33	BID ATL 1 STEEL: 12 INCH FCA - First Offer	\$650.00	1 / each	\$650.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-34	BID ATL 1 STEEL: 6 INCH FCA - First Offer	\$230.00	4 / each	\$920.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-35	BID ATL 1 STEEL: SANITARY SEWER (SDR 35 PVC, 15 INCH) - First Offer	\$200.00	65 / linear foot	\$13,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-36	BID ATL 1 STEEL: CONCRETE ENCASEMENT FOR SANITARY SEWER CROSSING - First Offer	\$200.00	110 / linear foot	\$22,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-37	BID ATL 1 STEEL: CONSTRUCTION STAKING (CONSTRUCTION SURVEY) - First Offer	\$10,000.00	1 / lump sum	\$10,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		

r i ransmi	ission Main Its	rusts		
WC- 0855-R- -02-38			sum	
Product Agency		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-39	BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First Offer	\$65,000.00	1 / lump sum	\$65,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-40	BID ATL 1 STEEL: MOBILIZATION - First Offer	\$700,000.00	1 / lump sum	\$700,000.00
Product Agency N		Supplier Product Code: Supplier Notes:	1	
OCWUT WC- 0855-R- -02-41	BID ATL 1 STEEL: CLEARING AND GRUBBING - First Offer	\$500,000.00	1 / lump sum	\$500,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-42	BID ATL 1 STEEL: REMOVE (AND REPLACE) CURB AND GUTTER - First Offer	\$51.00	331 / linear foot	\$16,881.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-43	BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWAY (CONCRETE) - First Offer	\$118.00	311 / square yard	\$36,698.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-44			56 / square yard	\$12,488.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-45	BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWAY (GRAVEL) - First Offer	\$22.00	337 / square yard	\$7,414.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-46	BID ATL 1 STEEL: PAVEMENT CUT AND PERMANANT REPAIR (ASPHALT) - First Offer	\$155.00	2520 / square yard	\$390,600.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-47	BID ATL 1 STEEL: PAVEMENT CUT AND PERMANANT REPAIR (CONCRETE) - First Offer	\$307.00	125 / square yard	\$38,375.00

er Transmission Main	its Trusts		
Product Code:	Supplier Product Code:		
Agency Notes:	Supplier Notes:		
OCWUT BID ATL 1 STEEL: REMOVE (AND REPLACE) SIDEW, WC-PAVEMENT - First O 0855-R02-48		10 / square yard	\$1,770.00
Product Code:	Supplier Product Code:		
Agency Notes:	Supplier Notes:		I
OCWUT BID ATL 1 STEEL: REMOVE AND REPLACE PARKING I WC- PAVEMENT (ASPHALT) - First O 0855-R02-49		1217 / square yard	\$66,935.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
OCWUT BID ATL 1 STEEL: REMOVE AND REPLACE PARKING I WC- 0855-R02-50		62 / square yard	\$8,060.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
OCWUT BID ATL 1 STEEL: RIPRAP (TYPE II WITH FILTER BLANKE WC-0855-R-02-51	T) - \$116.00	30 / cubic yard	\$3,480.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
OCWUT BID ATL 1 STEEL: SOLID SLAB SODDING - First O WC- 0855-R02-52	ffer \$10.00	3572 / square yard	\$35,720.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
OCWUT BID ATL 1 STEEL: CATHODIC PROTECTION SYSTEM - F WC- 0855-R- -02-53	irst \$60,000.00 ffer	1 / lump sum	\$60,000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
OCWUT BID ATL 1 STEEL: TRAFFIC STRIPE (4 INCH) - First O WC- 0855-R- -02-54	ffer \$73.97	100 / linear foot	\$7,397.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
			<b>Lot Total:</b> \$15,640,000.00

United Trenching, Inc.

\$16,302,985.00 (98/98 items)

Bid Contact **Tony Ellison** 

Address **5506 Stewart Drive Mustang, OK 73064** 

unitedtrenching@aol.com

Ph 405-376-1122

Qualifications **OKC PRE-QUALIFIED CONTRACTORS** 

Bid Notes No Bid on DIP Portion

Agency Notes: Supplier Notes: No Bid on DIP Portion				
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT	Base Bid: AUDIO-VIDEO RECORDING PRE-AND POST-	\$0.00	1 / lump	\$0.00
WC-	CONSTRUCTION - First Offer		sum	

0855-R- -01-01			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: SEDIMENT AND EROSION CONTROL - First Offer WC- 0855-R01-02	\$0.00	1 / lump sum	\$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: 42-INCH DIP WATERLINE PIPE (with RESTRAINED WC- JOINTs, NOM. WALL 0.53 INCH) - First Offer 0855-R01-03		2268 / linear foot	\$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: 42-INCH DIP WATERLINE PIPE (PUSH-ON JOINT, WC- NOM. WALL 0.53 INCH) - First Offer 0855-R01-04		5668 / linear foot	\$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: REMOVE EXISTING 42 INCH PLUG (SEE NOTE 5, WC- SHEET 4) - First Offer 0855-R01-05		1 / each	\$0.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	

	Soloti Maii			
OCWUT WC- 0855-R- -01-06	Base Bid: 42 INCH X 45 DEG BEND w/RESTRAINED MJ - First Offer		18 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-07	Base Bid: 42 INCH X 11 1/4 DEG BEND w/RESTRAINED MJ - First Offer	\$0.00	4 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-08	Base Bid: 42 INCH X 24 INCH TEE w/RESTRAINED MJ - First Offer		5 / each	\$0.00
	ency Notes:  Supplier Product Code Supplier Notes: No Bio		DIP Portion.	
OCWUT WC- 0855-R- -01-09	Base Bid: 42 INCH PLUG - First Offer	\$0.00	1 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-10	Base Bid: 42 INCH SPOOL, FxMJ, W/ BLIND FLANGE - First Offer	\$0.00	1 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-11	Base Bid: 24 INCH X 12 INCH REDUCER w/RESTRAINED MJ - First Offer	\$0.00	5 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-12	Base Bid: 12 INCH X 6 INCH REDUCER w/RESTRAINED MJ - First Offer	\$0.00	5 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	

Transmission wan	ils iius			
OCWUT Base Bid: 24 INCH X 90 DEG BEND w WC- 0855-R- -01-13	/RESTRAINED MJ - First Offer	\$0.00	3 / each	\$0.00
Product Code:		plier Product Code:		
Agency Notes:	Sup	<b>plier Notes:</b> No Bid on	DIP Portion.	
OCWUT Base Bid: 12INCH X 90 DEG BEND w WC- 0855-R- -01-14	/RESTRAINED MJ - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		plier Product Code: plier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: WATER SERVICE LINE SHOR WC- 0855-R- -01-15	RT (1 INCH) - First Offer	\$0.00	5 / each	\$0.00
Product Code: Agency Notes:		plier Product Code: plier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: WATER SERVICE LINE SHOWN WC-0855-R01-16	RT (2 INCH) - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		plier Product Code: plier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: METER RELOCATION WC- 0855-R- -01-17	(5/8 INCH) - First Offer	\$0.00	5 / each	\$0.00
Product Code: Agency Notes:		plier Product Code: plier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: METER RELOCATIC WC- 0855-R01-18	N (1 INCH) - First Offer	\$0.00	1 / each	\$0.00
Product Code: Agency Notes:		plier Product Code: plier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: METER RELOCATIC WC- 0855-R01-19	N (2 INCH) - First Offer	\$0.00	2 / each	\$0.00
Product Code: Agency Notes:		plier Product Code: plier Notes: No Bid on	DIP Portion.	
OCWUT Base Bid: FIRE HYDRANT (ALL JOINTS WC-0855-R01-20	RESTRAINED MJ) - First Offer	\$0.00	5 / each	\$0.00
Product Code:	Sup	plier Product Code:		

1		Trusts		
Agency N	Notes:	<b>Supplier Notes:</b> No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-21	Base Bid: 6 INCH GATE VALVE AND VALVE BOX (RESTRAINED MJ) - First Offer	\$0.00	5 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-22	Base Bid: COMBINATION AIR RELEASE AND VACUUM VALVE AND VAULT - First Offer	\$0.00	7 / each	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-23	Base Bid: HYDROSTATIC PRESSURE TESTING - First Offer	\$0.00	1 / lump sum	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-24	Base Bid: BORING-CASING (RAILROAD CROSSING, 42-IN DIP CARRIER PIPE, 54-IN MIN. DIA.) - First Offer	\$0.00	115 / linear foot	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on DIP Portion.		
OCWUT WC- 0855-R- -01-25	Base Bid: BORING-CASING (42-INCH CARRIER) - First Offer	\$0.00	271 / linear foot	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-26	Base Bid: SANITARY SEWER (SDR 35 PVC, 15 INCH) - First Offer	\$0.00	65 / linear foot	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-27	Base Bid: CONCRETE ENCASEMENT FOR SANITARY SEWER CROSSING - First Offer	\$0.00	110 / linear foot	\$0.00
Product Agency N		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-28	Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY) - First Offer	\$0.00	1 / lump sum	\$0.00
Product		Supplier Product Code:	DIR Portion	
<b>Agency N</b> OCWUT	Base Bid: GPS AS-BUILT SURVEY - First Offer	<b>Supplier Notes:</b> No Bid on \$0.00	1 / lump	\$0.00

i Hansiii	ission Main Its	rusts		
0855-R- -01-29				
Product Agency I		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-30	Base Bid: CONSTRUCTION TRAFFIC CONTROL - First Offer	\$0.00	1 / lump sum	\$0.00
Product		Supplier Product Code:		
Agency I		Supplier Notes: No Bid on		
OCWUT WC- 0855-R- -01-31	Base Bid: MOBILIZATION - First Offer	\$0.00	1 / lump sum	\$0.00
Product		Supplier Product Code: Supplier Notes: No Bid on	DID Portion	
OCWUT WC- 0855-R- -01-32	Base Bid: CLEARING AND GRUBBING - First Offer	\$0.00	1 / lump sum	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-33	Base Bid: REMOVE (AND REPLACE) CURB AND GUTTER - First Offer		331 / linear foot	\$0.00
Product		Supplier Product Code:	DID D	
Agency I OCWUT WC- 0855-R- -01-34	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (CONCRETE) - First Offer	<b>Supplier Notes:</b> No Bid on \$0.00	311 / square yard	\$0.00
Product		Supplier Product Code:	DID Doution	
OCWUT WC- 0855-R- -01-35	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (ASPHALT) - First Offer	<b>Supplier Notes:</b> No Bid on \$0.00	56 / square yard	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-36	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (GRAVEL) - First Offer	\$0.00	337 / square yard	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-37	Base Bid: PAVEMENT CUT AND PERMANANT REPAIR (ASPHALT) - First Offer	\$0.00	2520 / square yard	\$0.00
Product Agency I		Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.	
OCWUT WC- 0855-R- -01-38	Base Bid: PAVEMENT CUT AND PERMANANT REPAIR (CONCRETE) - First Offer	\$0.00	125 / square yard	\$0.00
Product	Code:	Supplier Product Code:	I	I

Agency Notes:	Supplier Notes: No Bid on	DIP Portion.		
OCWUT Base Bid: REMOVE (AND REPLACE) SIDEWALK PAVEMENT WC- 0855-R01-39		10 / square yard	\$0.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	Supplier Product Code: Supplier Notes: No Bid on DIP Portion.		
OCWUT Base Bid: REMOVE AND REPLACE PARKING LOT PAVEMENT WC- (ASPHALT) - First Offer 0855-R01-40	\$0.00	1217 / square yard	\$0.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIR Portion		
OCWUT Base Bid: REMOVE AND REPLACE PARKING LOT PAVEMENT WC- 0855-R01-41	\$0.00	62 / square yard	\$0.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.		
OCWUT Base Bid: RIPRAP (TYPE II WITH FILTER BLANKET) - First Offe WC- 0855-R- -01-42	\$0.00	30 / cubic yard	\$0.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.		
OCWUT Base Bid: SOLID SLAB SODDING - First Offer WC- 0855-R01-43	\$0.00	3572 / square yard	\$0.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.		
OCWUT Base Bid: TRAFFIC STRIPE (4 INCH) - First Offer WC-0855-R01-44	\$0.00	100 / linear foot	\$0.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: No Bid on	DIP Portion.		
			Lot Total: \$0.00	
Item# Line Item	Unit Price	Qty/Unit	Total Price	
OCWUT BID ATL 1 STEEL: AUDIO-VIDEO RECORDING PRE-AND POST CONSTRUCTION - First Offer 0855-R-02-01	· '	1 / lump sum	\$60,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: SEDIMENT AND EROSION CONTROL - Firs WC- Offee	t \$75,000.00	1 / lump sum	\$75,000.00	

i iialisiiii	SSIOTI MAITI	Trusis		
0855-R- -02-02				
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-03	BID ATL 1 STEEL: 42-INCH STEEL PIPE, RESTRAINED JOINT W DBL LAP WELDED JTS, 0.250 IN WT - First Offer	\$1,370.00	2268 / linear foot	\$3,107,160.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:	l	
OCWUT WC- 0855-R- -02-04	BID ATL 1 STEEL: 42-INCH STEEL PIPE, BELL AND SPIGOT W ROLLED GROOVE RUBBER JTS, 0.250 IN WT - First Offer	\$1,370.00	5668 / linear foot	\$7,765,160.00
Product		Supplier Product Code: Supplier Notes:		
Agency N OCWUT WC- 0855-R- -02-05	BID ATL 1 STEEL: REMOVE EXISTING 42 INCH PLUG (SEE NOTE 5, SHEET 4) - First Offer	\$25,000.00	1 / each	\$25,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-06	BID ATL 1 STEEL: 42 INCH X 45 DEG BEND w/RESTRAINED MJ (WSP) - First Offer	\$17,000.00	18 / each	\$306,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-07	BID ATL 1 STEEL: 42 INCH X 11 1/4 DEG BEND w/RESTRAINED MJ (WSP) - First Offer	\$13,000.00	4 / each	\$52,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-08	BID ATL 1 STEEL: 42 INCH X 24 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$11,000.00	1 / each	\$11,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-09	BID ATL 1 STEEL: 42 INCH X 6 INCH TEE W/RESTRAINED MJ (WSP) - First Offer	\$9,000.00	4 / each	\$36,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-10	BID ATL 1 STEEL: 42 INCH X 4 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$12,000.00	7 / each	\$84,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-11	BID ATL 1 STEEL: 42 INCH SPOOL, FxMJ, W/ BLIND FLANGE - First Offer	\$17,000.00	1 / each	\$17,000.00
Product	Code:	Supplier Product Code:		

er fransinission wain	is Trusis	
Agency Notes:	Supplier Notes:	
OCWUT BID ATL 1 STEEL: 12 INCH X 6 INCH REDUCER w/RESTRAINE WC- MJ - First Off 0855-R02-12		500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: 12 INCH 90 DEG BEND W/RESTRAINED M WC-0855-R02-13		000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: 6 INCH 90 DEG BEND W/RESTRAINED M WC-0855-R02-14		000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: 12 INCH MEGAL LUG - First Off WC- 0855-R- -02-15	\$500.00 2 / each \$1,	000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: 6 INCH MEGA LUG - First Off WC- 0855-R- -02-16	er \$200.00 8 / each \$1,0	600.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: WATER SERVICE LINE SHORT (1 INCH) - Fir WC- 0855-R02-17		000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: WATER SERVICE LINE SHORT (2 INCH) - Fir WC- 0855-R02-18	st \$4,000.00 2 / each \$8,000.00	000.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: METER RELOCATION (5/8 INCH) - First Off WC-0855-R-02-19		000.00
Product Code:	Supplier Product Code: Supplier Notes:	
Agency Notes:  OCWUT WC- 0855-R02-20  BID ATL 1 STEEL: METER RELOCATION (1 INCH) - First Off		500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: METER RELOCATION (2 INCH) - First Off WC-		00.000

i Hansiiis	SSIOTI WAITI	Trusis		
0855-R- -02-21				
Product C Agency N		Supplier Product Code: Supplier Notes:	1	
OCWUT WC- 0855-R- -02-22	BID ATL 1 STEEL: FIRE HYDRANT (ALL JOINTS RESTRAINED MJ) - First Offer	\$4,800.00	5 / each	\$24,000.00
Product 0	Code:	Supplier Product Code:		ı
Agency N	lotes:	Supplier Notes:		
OCWUT WC- 0855-R- -02-23	BID ATL 1 STEEL: 6 INCH GATE VALVE AND VALVE BOX (RESTRAINED MJ) - First Offer	\$2,000.00	5 / each	\$10,000.00
Product 0		Supplier Product Code:		
Agency N OCWUT WC- 0855-R- -02-24	BID ATL 1 STEEL: 4 INCH COMBINATION AIR RELEASE AND VACUUM VALVE AND VAULT - First Offer	\$40,000.00	7 / each	\$280,000.00
Product C Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-25	BID ATL 1 STEEL: HYDROSTATIC PRESSURE TESTING - First Offer	\$15,000.00	1 / lump sum	\$15,000.00
Product C Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-26	BID ATL 1 STEEL: BORING-CASING (RAILROAD CROSSING, 42-IN DIP CARRIER PIPE) - First Offer	\$3,500.00	115 / linear foot	\$402,500.00
Product C Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-27	BID ATL 1 STEEL: BORING-CASING (42-INCH CARRIER) - First Offer		271 / linear foot	\$677,500.00
Product C		Supplier Product Code: Supplier Notes:	ı	
OCWUT WC- 0855-R- -02-28	BID ATL 1 STEEL: 42 INCH FLG INSULATING KIT - First Offer	\$10,000.00	2 / each	\$20,000.00
Product O Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-29	BID ATL 1 STEEL: 12 INCH FLG INSULATING KIT - First Offer	\$4,000.00	1 / each	\$4,000.00
Product C Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-30	BID ATL 1 STEEL: 6 INCH FLG INSULATING KIT - First Offer	\$3,000.00	4 / each	\$12,000.00
Product 0	Code:	Supplier Product Code:		

DOWNT   BID ATL 1 STEEL: 4 INCH R.G. INSULATING KIT - First Offer   S2,000.00   6 / each   S12,000.00			Trusis		
MC   MC   MC   MC   MC   MC   MC   MC			Supplier Notes:	1	I
Agency Notes:   Supplier Notes:   Supplier Notes:   Since Note Notes:   Since Note:   Since Notes:   Since Note Notes:   Since Notes:   Si	WC- 0855-R-	BID ATL 1 STEEL: 4 INCH FLG INSULATING KIT - First Offer	\$2,000.00	6 / each	\$12,000.00
MC-   ADAPTER - First Offer					
Agency Notes:         Supplier Notes:           OCWUT WC-0855FR-02-33         BID ATL 1 STEEL: 12 INCH FCA - First Offer 0855FR-02-34         \$12,000.00         1 / each \$12,000.00         \$12,000.00 <t< td=""><td>OCWUT WC- 0855-R-</td><td>BID ATL 1 STEEL: 42 INCH RESTRAINED FLG COUPLING</td><td>\$16,000.00</td><td>1 / each</td><td>\$16,000.00</td></t<>	OCWUT WC- 0855-R-	BID ATL 1 STEEL: 42 INCH RESTRAINED FLG COUPLING	\$16,000.00	1 / each	\$16,000.00
OCWUT   BID ATL 1 STEEL: 12 INCH FCA - First Offer   S12,000.00   1 / each   S12,000.00   S12,	1			1	
Agency Notes   Supplier Notes	OCWUT WC- 0855-R-			1 / each	\$12,000.00
WC-					
Agency Notes:   Supplier Notes:   Supplier Notes:	WC- 0855-R-	BID ATL 1 STEEL: 6 INCH FCA - First Offer	\$10,000.00	4 / each	\$40,000.00
WC	1				
Agency Notes:  OCWUT WC- 0855-R02-36  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: CONCRETE ENCASEMENT FOR SANITARY SEWER CROSSING - First Offer foot  Supplier Product Code: Supplier Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION STAKING WC- (CONSTRUCTION SURVEY) - First Offer 0855-R02-37  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer 0855-R02-37  Product Code: Agency Notes:  OCWUT WC- 0855-R02-37  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer 0855-R02-38  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First Offer 0855-R02-39  Product Code: Agency Notes:  OCWUT WC- 0855-R02-39  Product Code: Agency Notes:  Supplier Product Code: Supplier Product Code: Supplier Notes:  \$250,000.00  1 / lump \$15,000.00  1 / lump \$250,000.00  Supplier Product Code: Supplier Product Code: Supplier Notes:	WC- 0855-R-		\$400.00		\$26,000.00
WC- 0855-R02-36  Product Code: Agency Notes:  COWUT WC- 0855-R02-37  Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:  Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Product Code: Supplier Product Code: Agency Notes:  Supplier Product Code: Agency Notes:  Supplier Product Code: Supplier Supplier Product					
Agency Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION STAKING WC-0855-R-0-2-37  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer WC-0855-R-0-2-38  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer WC-02-38  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer WC-02-38  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First WC-0855-R-02-39  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First WC-0855-R-02-39  Product Code: Agency Notes:  Supplier Product Code: \$250,000.00 1 / lump sum \$250,000.	WC- 0855-R-				\$38,500.00
OCWUT   BID ATL 1 STEEL: CONSTRUCTION STAKING   \$90,000.00   1 / lump   \$90,000.00   WC-   0855-R-   -02-37   Supplier Product Code:   Supplier Notes:   Supplier Notes:   \$15,000.00   1 / lump   \$15,000.00   WC-   0855-R-   -02-38   Product Code:   Supplier Product Code:   Supplier Notes:   Supplier Notes:   \$15,000.00   1 / lump   \$15,000.00   WC-   0855-R-   -02-38   Product Code:   Supplier Notes:   Supplier Notes:   \$250,000.00   1 / lump   \$250,000.00   WC-   0855-R-   -02-39   Product Code:   Supplier Product Code:   Supplier Notes:   Supplier Notes:   Supplier Product Code:   Supplier Product Code:   Supplier Notes:   Supplier Notes:   Supplier Product Code:   Supplier Product Code:   Supplier Product Code:   Supplier Product Code:   Supplier Notes:					
Agency Notes:  OCWUT BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer WC- 0855-R02-38  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First WC- 0855-R02-39  Product Code: Agency Notes:  Supplier Product Code: \$250,000.00  1 / lump \$250,000.00  1 / lump \$250,000.00  Sum  \$250,000.00  Supplier Product Code: Agency Notes:	OCWUT WC- 0855-R-	BID ATL 1 STEEL: CONSTRUCTION STAKING	\$90,000.00		\$90,000.00
OCWUT WC- 0855-R02-38  Product Code: Agency Notes:  OCWUT BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer Sum  Supplier Product Code: Supplier Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First Offer Offer Os55-R02-39  Product Code: Agency Notes:  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:			1	-	
Agency Notes:  OCWUT BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First WC- 0855-R02-39  Product Code: Agency Notes:  Supplier Notes:  Supplier Product Code: Supplier Notes:	OCWUT WC- 0855-R-			1	\$15,000.00
OCWUT WC- 0855-R02-39  Product Code: Agency Notes:  \$250,000.00  1 / lump \$250,000.00  1 / lump \$250,000.00  Supplier Product Code: Supplier Notes:					
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:	OCWUT WC- 0855-R-	BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First	\$250,000.00		\$250,000.00
	Product 0				
WC- sum	OCWUT				\$660,000.00

0855-R-				
-02-40				
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes:		
OCWUT BID ATL 1 STEEL: CLEARING AND GRUBBING - First Offe WC- 0855-R- -02-41		1 / lump sum	\$500,000.00	
Product Code:	Supplier Product Code:			
Agency Notes:	Supplier Notes:			
OCWUT BID ATL 1 STEEL: REMOVE (AND REPLACE) CURB ANI WC- 0855-R02-42	I	331 / linear foot	\$29,790.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWA WC- 0855-R02-43		311 / square yard	\$77,750.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWA WC- (ASPHALT) - First Offe 0855-R02-44		56 / square yard	\$13,440.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWA WC- 0855-R02-45		337 / square yard	\$64,030.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: PAVEMENT CUT AND PERMANANT REPAI WC- (ASPHALT) - First Offe 0855-R02-46		2520 / square yard	\$882,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: PAVEMENT CUT AND PERMANANT REPAI WC- (CONCRETE) - First Offe 0855-R02-47		125 / square yard	\$56,250.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: REMOVE (AND REPLACE) SIDEWAL WC-0855-R02-48		10 / square yard	\$1,950.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:	. '		
OCWUT BID ATL 1 STEEL: REMOVE AND REPLACE PARKING LO WC- 0855-R02-49	T \$225.00	1217 / square yard	\$273,825.00	
T.	Supplier Product Code:			

WC- 0855-R02-50  Product Code: Agency Notes:  OCWUT WC- 0855-R-  BID ATL 1 STEEL: RIPRAP (TYPE II WITH FILTER BLANKET) - WC- 0855-R-	\$17,050.00
WC- 0855-R02-50  Product Code: Agency Notes:  OCWUT WC- 0855-R- WC- 0855-R-  BID ATL 1 STEEL: RIPRAP (TYPE II WITH FILTER BLANKET) - First Offer 0855-R-	
Agency Notes:  OCWUT  BID ATL 1 STEEL: RIPRAP (TYPE II WITH FILTER BLANKET) - First Offer 0855-R-  Supplier Notes:  \$180.00   30 / cubic yard	\$5,400.00
WC- First Offer 9 yard 0855-R-	\$5,400.00
-02-51	
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: SOLID SLAB SODDING - First Offer WC- 0855-R02-52	\$53,580.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:	
OCWUT BID ATL 1 STEEL: CATHODIC PROTECTION SYSTEM - First WC- 0855-R02-53 \$80,000.00 1 / lump sum	\$80,000.00
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:	
OCWUT BID ATL 1 STEEL: TRAFFIC STRIPE (4 INCH) - First Offer WC- 0855-R02-54	\$62,500.00
Product Code: Agency Notes:  Supplier Product Code: Supplier Notes:	
Lot Total: \$16,	302,985.00

**BELT CONSTRUCTION, INC** 

\$36,135,028.00 (98/98 items)

Bid Contact MARLA STUEHRENBERG

david@beltinc.com Ph 870-772-7216 Fax 870-772-7233 Address **2507 E BROAD TEXARKANA, AR 71854** 

Qualifications **OKC PRE-QUALIFIED CONTRACTORS** 

Bid Bond [a] (Status: This bid bond could not be verified)

Agency N	Notes:	Supplier Notes:		
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT WC- 0855-R- -01-01	Base Bid: AUDIO-VIDEO RECORDING PRE-AND POST- CONSTRUCTION - First Offer	· '	1 / lump sum	\$12,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Surety 200 been attached per BidSync		ould not authenticate so it has
OCWUT WC-	Base Bid: SEDIMENT AND EROSION CONTROL - First Offer	\$20,000.00	1 / lump sum	\$20,000.00

i Hallollii	SSIOII Walli	Trusis		
0855-R- -01-02				
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-03	Base Bid: 42-INCH DIP WATERLINE PIPE (with RESTRAINED JOINTs, NOM. WALL 0.53 INCH) - First Offer	\$2,050.00	2268 / linear foot	\$4,649,400.00
Product (		Supplier Product Code:	'	
Agency N		Supplier Notes:	I	I
OCWUT WC- 0855-R- -01-04	Base Bid: 42-INCH DIP WATERLINE PIPE (PUSH-ON JOINT, NOM. WALL 0.53 INCH) - First Offer	\$1,900.00	5668 / linear foot	\$10,769,200.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-05	Base Bid: REMOVE EXISTING 42 INCH PLUG (SEE NOTE 5, SHEET 4) - First Offer	\$12,000.00	1 / each	\$12,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-06	Base Bid: 42 INCH X 45 DEG BEND w/RESTRAINED MJ - First Offer	\$17,000.00	18 / each	\$306,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-07	Base Bid: 42 INCH X 11 1/4 DEG BEND w/RESTRAINED MJ - First Offer	\$13,000.00	4 / each	\$52,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-08	Base Bid: 42 INCH X 24 INCH TEE w/RESTRAINED MJ - First Offer	\$22,000.00	5 / each	\$110,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-09	Base Bid: 42 INCH PLUG - First Offer	\$17,000.00	1 / each	\$17,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-10	Base Bid: 42 INCH SPOOL, FxMJ, W/ BLIND FLANGE - First Offer	\$13,000.00	1 / each	\$13,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-11	Base Bid: 24 INCH X 12 INCH REDUCER w/RESTRAINED MJ - First Offer	\$7,000.00	5 / each	\$35,000.00
Product (	Code:	Supplier Product Code:		

		Trusts		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0855-R- -01-12	Base Bid: 12 INCH X 6 INCH REDUCER w/RESTRAINED MJ - First Offer	\$7,000.00	5 / each	\$35,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-13	Base Bid: 24 INCH X 90 DEG BEND w/RESTRAINED MJ - First Offer		3 / each	\$36,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-14	Base Bid: 12INCH X 90 DEG BEND w/RESTRAINED MJ - First Offer		2 / each	\$16,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-15	Base Bid: WATER SERVICE LINE SHORT (1 INCH) - First Offer	\$5,000.00	5 / each	\$25,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-16	Base Bid: WATER SERVICE LINE SHORT (2 INCH) - First Offer		2 / each	\$12,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-17	Base Bid: METER RELOCATION (5/8 INCH) - First Offer	\$6,000.00	5 / each	\$30,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-18	Base Bid: METER RELOCATION (1 INCH) - First Offer		1 / each	\$7,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-19	Base Bid: METER RELOCATION (2 INCH) - First Offer		2 / each	\$16,000.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:	E / aasl-	#00.000.00
OCWUT WC- 0855-R- -01-20	Base Bid: FIRE HYDRANT (ALL JOINTS RESTRAINED MJ) - First Offer		5 / each	\$80,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC-		\$8,000.00	5 / each	\$40,000.00

r I ransmı	ission Main its	Trusts		
0855-R- -01-21				
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-22	Base Bid: COMBINATION AIR RELEASE AND VACUUM VALVE AND VAULT - First Offer	\$42,000.00	7 / each	\$294,000.00
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0855-R- -01-23	Base Bid: HYDROSTATIC PRESSURE TESTING - First Offer	\$30,000.00	1 / lump sum	\$30,000.00
Product		Supplier Product Code:		
Agency N		Supplier Notes:		+
OCWUT WC- 0855-R- -01-24	Base Bid: BORING-CASING (RAILROAD CROSSING, 42-IN DIP CARRIER PIPE, 54-IN MIN. DIA.) - First Offer	\$5,500.00	115 / linear foot	\$632,500.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-25	Base Bid: BORING-CASING (42-INCH CARRIER) - First Offer	\$4,500.00	271 / linear foot	\$1,219,500.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-26	Base Bid: SANITARY SEWER (SDR 35 PVC, 15 INCH) - First Offer	\$400.00	65 / linear foot	\$26,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-27	Base Bid: CONCRETE ENCASEMENT FOR SANITARY SEWER CROSSING - First Offer	\$90.00	110 / linear foot	\$9,900.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-28	Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY) - First Offer	\$25,000.00	1 / lump sum	\$25,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-29	Base Bid: GPS AS-BUILT SURVEY - First Offer	\$125,000.00	1 / lump sum	\$125,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
			1 / lump	¢60,000,00
OCWUT WC- 0855-R- -01-30	Base Bid: CONSTRUCTION TRAFFIC CONTROL - First Offer	\$60,000.00	1 / lump sum	\$60,000.00
0.50				

Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0855-R- -01-31	Base Bid: MOBILIZATION - First Offer	\$750,000.00	1 / lump sum	\$750,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-32	Base Bid: CLEARING AND GRUBBING - First Offer	\$36,000.00	1 / lump sum	\$36,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
		\$50.00	331 / linear foot	\$16,550.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-34	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (CONCRETE) - First Offer	\$125.00	311 / square yard	\$38,875.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-35	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (ASPHALT) - First Offer	\$150.00	56 / square yard	\$8,400.00
Product Agency N		Supplier Product Code: Supplier Notes:	<u> </u>	
OCWUT WC- 0855-R- -01-36	Base Bid: REMOVE (AND REPLACE) DRIVEWAY (GRAVEL) - First Offer	\$70.00	337 / square yard	\$23,590.00
Product		Supplier Product Code:		
OCWUT WC- 0855-R- -01-37	Base Bid: PAVEMENT CUT AND PERMANANT REPAIR (ASPHALT) - First Offer	\$200.00	2520 / square yard	\$504,000.00
Product		Supplier Product Code:		I
OCWUT WC- 0855-R- -01-38	Base Bid: PAVEMENT CUT AND PERMANANT REPAIR (CONCRETE) - First Offer	\$200.00	125 / square yard	\$25,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -01-39	Base Bid: REMOVE (AND REPLACE) SIDEWALK PAVEMENT - First Offer	\$100.00	10 / square yard	\$1,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC-	Base Bid: REMOVE AND REPLACE PARKING LOT PAVEMENT (ASPHALT) - First Offer	\$75.00	1217 / square yard	\$91,275.00

0855-R-	Soloti Maii	114515		
-01-40				
Product (		Supplier Product Code:		
Agency N	lotes:	Supplier Notes:		
OCWUT WC- 0855-R-	Base Bid: REMOVE AND REPLACE PARKING LOT PAVEMENT (CONCRETE) - First Offer	\$140.00	62 / square yard	\$8,680.00
-01-41				
Product O Agency N		Supplier Product Code: Supplier Notes:		
OCWUT	Base Bid: RIPRAP (TYPE II WITH FILTER BLANKET) - First Offer	\$500.00	30 / cubic	\$15,000.00
WC- 0855-R- -01-42	base bla. Idi ivit (TT E II WITT TELEK bb Wite), Tilscoller	\$300.00	yard	\$15,000.00
	a. J	C I' D I C I		
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT	Base Bid: SOLID SLAB SODDING - First Offer	\$6.00	3572 /	\$21,432.00
WC-			square yard	
0855-R- -01-43				
Product C Agency N		Supplier Product Code: Supplier Notes:		
OCWUT	Base Bid: TRAFFIC STRIPE (4 INCH) - First Offer	\$100.00	100 / linear	\$10,000.00
WC-			foot	
0855-R- -01-44				
Product ( Agency N		Supplier Product Code: Supplier Notes:		
				<b>Lot Total:</b> \$20,264,302.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
OCWUT WC- 0855-R- -02-01	BID ATL 1 STEEL: AUDIO-VIDEO RECORDING PRE-AND POST- CONSTRUCTION - First Offer	\$12,000.00	1 / lump sum	\$12,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT	BID ATL 1 STEEL: SEDIMENT AND EROSION CONTROL - First	\$20,000.00	1 / lump	\$20,000.00
WC- 0855-R- -02-02	Offer	, ,,,,,,,,	sum	, ,,
Product (	Code:	Supplier Product Code:		
Agency N	lotes:	Supplier Notes:		
OCWUT WC- 0855-R- -02-03	BID ATL 1 STEEL: 42-INCH STEEL PIPE, RESTRAINED JOINT W DBL LAP WELDED JTS, 0.250 IN WT - First Offer	\$1,454.00	2268 / linear foot	\$3,297,672.00
Product (		Supplier Product Code: Supplier Notes:		
Agency N		\$1,414.00	5668 /	\$8,014,552.00
Agency N OCWUT WC- 0855-R- -02-04	BID ATL 1 STEEL: 42-INCH STEEL PIPE, BELL AND SPIGOT W ROLLED GROOVE RUBBER JTS, 0.250 IN WT - First Offer		linear foot	
OCWUT WC- 0855-R- -02-04 <b>Product (</b>	ROLLED GROOVE RUBBER JTS, 0.250 IN WT - First Offer  Code:	Supplier Product Code:	linear foot	
OCWUT WC- 0855-R- -02-04	ROLLED GROOVE RUBBER JTS, 0.250 IN WT - First Offer  Code:	Supplier Product Code: Supplier Notes: \$1,200.00	linear foot	\$1,200.00

er rransm	ission Main Its	Trusts		
0855-R- -02-05				
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-06	I	\$11,000.00	18 / each	\$198,000.00
Product		Supplier Product Code:		
Agency I		Supplier Notes:		
OCWUT WC- 0855-R- -02-07	BID ATL 1 STEEL: 42 INCH X 11 1/4 DEG BEND w/RESTRAINED MJ (WSP) - First Offer	\$6,000.00	4 / each	\$24,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-08	BID ATL 1 STEEL: 42 INCH X 24 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$12,000.00	1 / each	\$12,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-09	BID ATL 1 STEEL: 42 INCH X 6 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$2,500.00	4 / each	\$10,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-10	BID ATL 1 STEEL: 42 INCH X 4 INCH TEE w/RESTRAINED MJ (WSP) - First Offer	\$1,100.00	7 / each	\$7,700.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-11	BID ATL 1 STEEL: 42 INCH SPOOL, FxMJ, W/ BLIND FLANGE - First Offer	\$15,000.00	1 / each	\$15,000.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-12	BID ATL 1 STEEL: 12 INCH X 6 INCH REDUCER w/RESTRAINED MJ - First Offer	\$6,800.00	1 / each	\$6,800.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-13		\$7,400.00	1 / each	\$7,400.00
Product Agency I		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-14	BID ATL 1 STEEL: 6 INCH 90 DEG BEND w/RESTRAINED MJ - First Offer	\$7,000.00	3 / each	\$21,000.00
Product	Code:	Supplier Product Code:	<u> </u>	

Transmission wan	its Trusts			
Agency Notes:	Supplier Notes:			
OCWUT BID ATL 1 STEEL: 12 INCH MEGAL LUG - First Off WC- 0855-R- -02-15	er \$7,000.00	2 / each	\$14,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: 6 INCH MEGA LUG - First Off WC- 0855-R- -02-16	er \$6,500.00	8 / each	\$52,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: WATER SERVICE LINE SHORT (1 INCH) - Fir WC- 0855-R- -02-17		5 / each	\$30,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: WATER SERVICE LINE SHORT (2 INCH) - Fir WC- 0855-R- -02-18		2 / each	\$18,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: METER RELOCATION (5/8 INCH) - First Off WC- 0855-R- -02-19	• • • • • • • • • • • • • • • • • • • •	5 / each	\$30,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: METER RELOCATION (1 INCH) - First Off WC-0855-R02-20	er \$6,000.00	1 / each	\$6,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: METER RELOCATION (2 INCH) - First Off WC- 0855-R02-21		2 / each	\$16,000.00	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:			
OCWUT BID ATL 1 STEEL: FIRE HYDRANT (ALL JOINTS RESTRAINI) WC- 0855-R02-22	ED \$14,000.00	5 / each	\$70,000.00	
Product Code:	Supplier Product Code:			
Agency Notes:	Supplier Notes:	Г / '	#25.000.00	
OCWUT BID ATL 1 STEEL: 6 INCH GATE VALVE AND VALVE BO WC- (RESTRAINED MJ) - First Off 0855-R- -02-23		5 / each	\$35,000.00	
Product Code:	Supplier Product Code:			
Agency Notes:	Supplier Notes:			

i Hallollii	SSIUTI Maiti	Trusis			
0855-R- -02-24					
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT WC- 0855-R- -02-25	BID ATL 1 STEEL: HYDROSTATIC PRESSURE TESTING - First Offer	\$30,000.00	1 / lump sum	\$30,000.00	
Product		Supplier Product Code:	'		
Agency N		Supplier Notes:	I		
OCWUT WC- 0855-R- -02-26	BID ATL 1 STEEL: BORING-CASING (RAILROAD CROSSING, 42-IN DIP CARRIER PIPE) - First Offer	\$4,500.00	115 / linear foot	\$517,500.00	
Product		Supplier Product Code: Supplier Notes:			
Agency N OCWUT WC- 0855-R- -02-27	BID ATL 1 STEEL: BORING-CASING (42-INCH CARRIER) - First Offer	\$4,200.00	271 / linear foot	\$1,138,200.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT WC- 0855-R- -02-28	BID ATL 1 STEEL: 42 INCH FLG INSULATING KIT - First Offer	\$6,000.00	2 / each	\$12,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT WC- 0855-R- -02-29	BID ATL 1 STEEL: 12 INCH FLG INSULATING KIT - First Offer	\$7,000.00	1 / each	\$7,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT WC- 0855-R- -02-30	BID ATL 1 STEEL: 6 INCH FLG INSULATING KIT - First Offer	\$7,000.00	4 / each	\$28,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT WC- 0855-R- -02-31	BID ATL 1 STEEL: 4 INCH FLG INSULATING KIT - First Offer	\$7,000.00	6 / each	\$42,000.00	
Product (		Supplier Product Code: Supplier Notes:			
OCWUT WC- 0855-R- -02-32	BID ATL 1 STEEL: 42 INCH RESTRAINED FLG COUPLING ADAPTER - First Offer		1 / each	\$16,000.00	
Product Agency N		Supplier Product Code: Supplier Notes:			
OCWUT WC- 0855-R- -02-33	BID ATL 1 STEEL: 12 INCH FCA - First Offer		1 / each	\$7,000.00	
Product	Code:	Supplier Product Code:			

er mansiin	SSIOTI IVIAITI	Trusis		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0855-R- -02-34	BID ATL 1 STEEL: 6 INCH FCA - First Offer	\$7,000.00	4 / each	\$28,000.00
		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-35	BID ATL 1 STEEL: SANITARY SEWER (SDR 35 PVC, 15 INCH) - First Offer	\$400.00	65 / linear foot	\$26,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-36	BID ATL 1 STEEL: CONCRETE ENCASEMENT FOR SANITARY SEWER CROSSING - First Offer	\$90.00	110 / linear foot	\$9,900.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-37	BID ATL 1 STEEL: CONSTRUCTION STAKING (CONSTRUCTION SURVEY) - First Offer	\$25,000.00	1 / lump sum	\$25,000.00
Product ( Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-38	BID ATL 1 STEEL: GPS AS-BUILT SURVEY - First Offer	\$125,000.00	1 / lump sum	\$125,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-39	BID ATL 1 STEEL: CONSTRUCTION TRAFFIC CONTROL - First Offer	· · · · · · · · · · · · · · · · · · ·	1 / lump sum	\$60,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-40	BID ATL 1 STEEL: MOBILIZATION - First Offer		1 / lump sum	\$750,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-41	BID ATL 1 STEEL: CLEARING AND GRUBBING - First Offer		1 / lump sum	\$36,000.00
Product (		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-42	BID ATL 1 STEEL: REMOVE (AND REPLACE) CURB AND GUTTER - First Offer	\$50.00	331 / linear foot	\$16,550.00
Product (		Supplier Product Code: Supplier Notes:	1	
OCWUT WC-	BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWAY (CONCRETE) - First Offer	\$125.00	311 / square yard	\$38,875.00

or manionin	SSIOTI Maili	Trusis		
0855-R- -02-43				
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-44	BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWAY (ASPHALT) - First Offer	\$150.00	56 / square yard	\$8,400.00
Product	Code:	Supplier Product Code:		
Agency N	Notes:	Supplier Notes:		
OCWUT WC- 0855-R- -02-45	BID ATL 1 STEEL: REMOVE (AND REPLACE) DRIVEWAY (GRAVEL) - First Offer	\$70.00	337 / square yard	\$23,590.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-46	BID ATL 1 STEEL: PAVEMENT CUT AND PERMANANT REPAIR (ASPHALT) - First Offer	\$200.00	2520 / square yard	\$504,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-47	BID ATL 1 STEEL: PAVEMENT CUT AND PERMANANT REPAIR (CONCRETE) - First Offer	\$200.00	125 / square yard	\$25,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-48	BID ATL 1 STEEL: REMOVE (AND REPLACE) SIDEWALK PAVEMENT - First Offer	\$100.00	10 / square yard	\$1,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-49	BID ATL 1 STEEL: REMOVE AND REPLACE PARKING LOT PAVEMENT (ASPHALT) - First Offer	\$75.00	1217 / square yard	\$91,275.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-50	BID ATL 1 STEEL: REMOVE AND REPLACE PARKING LOT PAVEMENT (CONCRETE) - First Offer	\$140.00	62 / square yard	\$8,680.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-51	BID ATL 1 STEEL: RIPRAP (TYPE II WITH FILTER BLANKET) - First Offer	\$500.00	30 / cubic yard	\$15,000.00
Product Agency N		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-52	BID ATL 1 STEEL: SOLID SLAB SODDING - First Offer	\$6.00	3572 / square yard	\$21,432.00
Product	Code:	Supplier Product Code:		

bid #OCWUT WC-0855-R -Water Transmission Main

### City of Oklahoma City and its Trusts

Agency No	tes:	Supplier Notes:		
OCWUT WC- 0855-R- -02-53	BID ATL 1 STEEL: CATHODIC PROTECTION SYSTEM - First Offer		1 / lump sum	\$100,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
OCWUT WC- 0855-R- -02-54	BID ATL 1 STEEL: TRAFFIC STRIPE (4 INCH) - First Offe	r \$100.00	100 / linear foot	\$10,000.00
Product Co Agency No		Supplier Product Code: Supplier Notes:		
		-		Lot Total: \$15,870,726.00

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

#### Bid Committee Bid Tab

# Bid TC-0638 Ended At Sep 25, 2024 10:00:00 AM CDT CONSTRUCTION/CITY - Pavement Marking

Compa	any:	Action Safety Supply Co.	, LLC			
BASE	BID	\$401,091.00				
TOTA	L BID:	\$401,091.00				
Dena Smiley City Clerk			Angee Wa Purchasing	 	im Alvarez	
Poter	ntial Bid Defects Noted:					
#1	Anti-collusion affiday	it not properly nota	rized			
#2	Bid Bond missing	•				
#3	Bid Bond incorrect av	varding agency				
#4	Bid Bond insufficient	amount				

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Business relationship affidavit not properly notarized

Originating Department shall:

#5

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

#### Bid #TC-0638 - Pavement Marking

Creation Date **Jul 31, 2024** End Date **Sep 25, 2024 10:00:00 AM CDT** 

Start Date Aug 14, 2024 8:05:10 AM CDT Awarded Date Not Yet Awarded

Action Safety Supply Co., LLC

\$401,091.00 (77/77 items)

Bid Contact Glenn Hietpas

Address P.O. Box 270238

glenn@actionsafetysupply.com; Blemon@actionsafetysupply.com Oklahoma City, OK 73137

Ph 405-787-2244

Qualifications OKC PRE-QUALIFIED CONTRACTORS

Bid Bond (Status: Authorized on Sep 10, 2024)

Agenc	y Notes:	Supplier Notes:		
ltem #	Line Item	Unit Price	Qty/Unit	Total Price
TC- 0638 <b>-</b> -01- 01	BASE BID: Traffic Stripe (Mu <b>l</b> ti-Polymer) (4-inch)(Parking Lot) - First Offer	\$1.85	1000 / linear foot	\$1,850.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 02	BASE BID: Traffic Stripe (Mu <b>l</b> ti-Polymer) (4-inch) - First Offer	\$2.00	5000 / linear foot	\$10,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 03	BASE BID: Traffic Stripe (Mu <b>l</b> ti-Polymer) (6-inch) - First Offer	\$2.50	5000 / linear foot	\$12,500.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 04	BASE BID: Traffic Stripe (Multi-Polymer) (8-inch) - First Offer	\$3.25	500 / linear foot	\$1,625.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 05	BASE BID: Traffic Stripe (Multi-Polymer) (12-inch) - First Offer	\$3.50	100 / linear foot	\$350.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 06	BASE BID: Traffic Stripe (Multi-Polymer) (24-inch) - First Offer	\$10.00	500 / linear foot	\$5,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC-	BASE BID: Traffic Stripe (Multi-Polymer) (Arrows) - First Offer	\$75.00	25 / each	\$1,875.00

9 0	upplier rab it	s Trusis		
0638 <b>-</b> -01- 07				
Produ	luct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 08	BASE BID: Traffic Stripe (Multi-Polymer) (Words) - First Offer	\$75.00	10 / each	\$750.00
	uct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 09	BASE BID: Traffic Stripe (Multi-Polymer) (Bike Lane Symbol) - First Offer	\$150.00	50 / each	\$7,500.00
	uct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 10	BASE BID: Traffic Stripe (Multi-Polymer) (Sharrow Symbol) - First Offer	\$150.00	50 / each	\$7,500.00
	uct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 11	BASE BID: Traffic Stripe (Multi-Polymer) (Railroad Crossing Symbol) - First Offer	\$1,000.00	2 / each	\$2,000.00
	uct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 12	BASE BID: Traffic Stripe (Multi-Polymer) (Contrast Stripe) - First Offer	\$2.25	1000 / linear foot	\$2,250.00
Produ	ıct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 13	BASE BID: Traffic Stripe (Multi-Polymer) (4-inch) (Taped) - First Offer	\$2.26	500 / linear foot	\$1,130.00
	uct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 14	BASE BID: Traffic Stripe (Multi-Polymer) (8-inch) (Taped) - First Offer	\$4.00	500 / linear foot	\$2,000.00
	uct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 15	BASE BID: Traffic Stripe (Multi-Polymer - Epoplex LS65) (4-inch)	\$2.05	5000 / linear foot	\$10,250.00
	uct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01-	BASE BID: Traffic Stripe (Multi-Polymer - Epoplex LS65) (8-inch) - First Offer	\$3.05	500 / linear foot	\$1,525.00

	its trusts
Product Code:	Supplier Product Code: Supplier Notes:
Agency Notes:  TC-  063801- 17  BASE BID: Traffic Stripe (Multi-Polymer - Epoplex LS65 inch) - First	5) (12- \$3.55   100 / linear \$355.00
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
TC- BASE BID: Traffic Stripe (Multi-Polymer - Epoplex LS65 0638- -01- 18	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- 063801- 19  BASE BID: Traffic Stripe (Multi-Polymer - Epoplex (Arrows) - First	LS65) \$75.50 100 / each \$7,550.00
Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:
TC- BASE BID: Traffic Stripe (Multi-Polymer - Epoplex (Words) - First -01-	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Traffic Stripe (Multi-Polymer - Epoplex LS65) 063801- 21	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Traffic Stripe (Multi-Polymer - Epoplex 0638- (Sharrow Symbol) - First -01- 22	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- 063801- 23  BASE BID: Traffic Stripe (Multi-Polymer - Epoplex (Railroad Crossing Symbol) - First	LS65) \$1,000.50 2 / each \$2,001.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Traffic Stripe (Multi-Polymer - Epoplex LS65) 0638- Skid Resistant Material) - First -01- 24	(With \$15.00 1500 / \$22,500.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- 0638- -01- 25 BASE BID: Traffic Stripe (Multi-Polymer) (24inch) (Taped)	- First \$9.00   500 / linear   \$4,500.00   Offer   foot
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Traffic Stripe (Thermoplastic) (4-inch)(Parking	

ing Su	pplier rab	is Trusis		
0638 <b>-</b> -01- 26	First Offer		linear foot	
	ct Code:	Supplier Product Code:		
Agenc	y Notes:	Supplier Notes:		
TC- 0638 <b>-</b> -01- 27	BASE BID: Traffic Stripe (Thermoplastic) (4-inch) - First Offer	\$2.00	5000 / linear foot	\$10,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 28	BASE BID: Traffic Stripe (Thermoplastic) (6-inch) - First Offer		5000 / linear foot	\$12,500.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 29	BASE BID: Traffic Stripe (Thermoplastic) (8-inch) - First Offer	\$3.25	500 / linear foot	\$1,625.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 30	BASE BID: Traffic Stripe (Thermoplastic) (12-inch) - First Offer	\$3.50	100 / linear foot	\$350.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 31	BASE BID: Traffic Stripe(Thermoplastic) (24-inch) - First Offer	\$7.50	500 / linear foot	\$3,750.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 32	BASE BID: Traffic Stripe (Thermoplastic) (Arrows) - First Offer		25 / each	\$1,875.00
Produ	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 33	BASE BID: Traffic Stripe (Thermoplastic) (Words) - First Offer		10 / each	\$750.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 34	BASE BID: Traffic Stripe (Thermoplastic) (Bike Lane Symbol) - First Offer	\$150.00	50 / each	\$7,500.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 35	BASE BID: Traffic Stripe (Thermoplastic) (Sharrow Symbol) - First Offer	\$150.00	50 / each	\$7,500.00

ang Su	pplier rab II	s Trusis		
	ct Code: ry Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 36	BASE BID: Traffic Stripe (Thermoplastic) (Railroad Crossing Symbol) - First Offer	\$750.00	2 / each	\$1,500.00
	ct Code:	Supplier Product Code:		
	y Notes:	Supplier Notes:	4500 /	±10.750.00
TC- 0638- -01- 37	BASE BID: Preformed Thermoplastic Pavement Material (Any color/symbol combination) - First Offer	\$12.50	1500 / square foot	\$18,750.00
	ct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 38	BASE BID: Black Contrast for Sharrow Backgrounds - First Offer	\$12.50	500 / square foot	\$6,250.00
	ct Code:	Supplier Product Code:		
	y Notes:	Supplier Notes:		
TC- 0638- -01- 39	BASE B <b>I</b> D: Remove Traffic Stripe (4-inch)(Parking Lot) - First Offer	\$1.00	1000 / linear foot	\$1,000.00
	ct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 40	BASE BID: Remove Traffic Stripe (4-inch) - First Offer	\$1.25	5000 / linear foot	\$6,250.00
1	ct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 41	BASE BID: Remove Traffic Stripe (8-inch) - First Offer	\$1.50	500 / linear foot	\$750.00
	ct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 42	BASE BID: Remove Traffic Stripe (12-inch) - First Offer	\$1.65	500 / linear foot	\$825.00
	ct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 43	BASE BID: Remove Traffic Stripe (24-inch) - First Offer	\$2.50	500 / linear foot	\$1,250.00
	ct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 44	BASE BID: Remove Traffic Stripe (Arrows) - First Offer	\$25.00	25 / each	\$625.00
1	ct Code:	Supplier Product Code: Supplier Notes:		
TC-	BASE BID: Remove Traffic Stripe (Words) - First Offer	\$40.00	10 / each	\$400.00

	pplier Tab it	s Trusts		
0638 <b>-</b> -01- 45				
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 46	BASE BID: Remove Traffic Stripe (Symbols) - First Offer	\$40.00	50 / each	\$2,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 47	BASE BID: Remove Traffic Stripe (4-inch)(Hydroblasting) - First Offer	\$2.00	5000 / linear foot	\$10,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 48	BASE BID: Remove Traffic Stripe (8-inch)(Hydroblasting) - First Offer	\$3.00	500 / linear foot	\$1,500.00
Product Code: Supplier Product Code: Agency Notes: Supplier Notes:				
TC- 0638- -01- 49	BASE BID: Remove Traffic Stripe (12-inch)(Hydroblasting) - First Offer	\$3.10	100 / linear foot	\$310.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 50	BASE B <b>I</b> D: Remove Traffic Stripe (24-inch)(Hydroblasting) - First Offer	\$10.00	500 / linear foot	\$5,000.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 51	BASE BID: Remove Traffic Stripe (Arrows)(Hydroblasting) - First Offer	\$100.00	25 / each	\$2,500.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 52	BASE BID: Remove Traffic Stripe (Words)(Hydroblasting) - First Offer	\$100.00	10 / each	\$1,000.00
1	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 53	BASE BID: Remove Traffic Stripe (Symbols)(Hydroblasting) - First Offer	\$125.00	25 / each	\$3,125.00
	ct Code: y Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 54	BASE BID: Remove Traffic Stripe (4-inch)(Shotblasting) - First Offer	l .	5000 / linear foot	\$7,500.00

ing Su	ipplier rab	S Trusts		
	ct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 55	BASE BID: Remove Traffic Stripe (8-inch)(Shotblasting) - First Offer		500 / linear foot	\$875.00
	rct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 56	BASE BID: Remove Traffic Stripe (12-inch)(Shotblasting) - First Offer	\$1.90	100 / linear foot	\$190.00
Produ	ct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 57	BASE BID: Remove Traffic Stripe (24-inch)(Shotblasting) - First Offer	\$2.75	500 / linear foot	\$1,375.00
	ry Notes:	Supplier Product Code: Supplier Notes:	'	
TC- 0638- -01- 58	BASE BID: Remove Traffic Stripe (Arrows)(Shotblasting) - First Offer	\$50.00	25 / each	\$1,250.00
	ry Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 59	BASE BID: Remove Traffic Stripe (Words)(Shotblasting) - First Offer		10 / each	\$600.00
Produ	ct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 60	BASE BID: Remove Traffic Stripe (Symbols)(Shotblasting) - First Offer		25 / each	\$1,500.00
Produ	ct Code:	Supplier Product Code: Supplier Notes:		I
TC- 0638- -01-	BASE BID: Permanent Pavement Marking Tape - First Offer		1000 / linear foot	\$4,000.00
	ry Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 62	BASE BID: Delineator Provide/Install - First Offer		100 / each	\$10,000.00
	ct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 63	BASE BID: Delineator Provide Only - First Offer	\$85.00	100 / each	\$8,500.00
	rct Code:	Supplier Product Code: Supplier Notes:		
TC-	BASE BID: Delineator Install Only - First Offer		100 / each	\$1,250.00

	pplier rab	s Trusis		
0638-				
-01-				
64				
	ct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
	•		100 / h	t2 200 00
TC- 0638- -01-	BASE BID: Plowable Raised Pavement Marker Provide/Install - First Offer	\$32.00	100 / each	\$3,200.00
65				
	ct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 66	BASE BID: Plowable Raised Pavement Marker Provide Only - First Offer	\$20.00	100 / each	\$2,000.00
Produ	ict Code:	Supplier Product Code:		
Agend	y Notes:	Supplier Notes:		
TC- 0638 <b>-</b> -01- 67	BASE BID: Plowable Raised Pavement Marker Install Only - First Offer	\$18.00	100 / each	\$1,800.00
	ct Code: cy Notes:	Supplier Product Code: Supplier Notes:		
TC- 0638- -01- 68	BASE BID: 1 3/4 Square Tube Post - First Offer	\$8.00	250 / linear foot	\$2,000.00
	ct Code:	Supplier Product Code:		
	y Notes:	Supplier Notes:		
TC- 0638 <b>-</b> -01- 69	BASE BID: Sheetmetal Sign - Up to Two Colors - First Offer	\$14.00	100 / square foot	\$1,400.00
-	ct Code:	Supplier Product Code:		
	y Notes:	Supplier Notes:		
TC- 0638 <b>-</b> -01- 70	BASE BID: Sheetmetal Sign - More than Two Colors - First Offer		50 / square foot	\$750.00
	ct Code:	Supplier Product Code: Supplier Notes:		
TC- 0638 <b>-</b> -01- 71	BASE BID: Remove and Replace Sign - First Offer	\$85.00	10 / each	\$850.00
Produ	ict Code:	Supplier Product Code:		
Agend	y Notes:	Supplier Notes:		
TC- 0638 <b>-</b> -01- 72	BASE BID: Sign Removal - First Offer	\$50.00	10 / each	\$500.00
Produ	ct Code:	Supplier Product Code:	1	
_	PACE RID. Automobiled Reductrice Rightle Countries First Office	Supplier Notes:	4.4	440.050.00
TC- 0638-	BASE BID: Automated Pedestrian Bicycle Counters - First Offer	\$18,350.00	1 / each	\$18,350.00

and capping rap	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Contractor Layout Drawing - F 0638- -01- 74	First Offer \$500.00 1 / lump \$500.00 sum
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Armadillo Type Delineator 5" tall 31" Lo 0638- -01- 75	ong - First \$250.00 55 / each \$13,750.0
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Curb Type Delineator 4" tall 5" wide 30" lo 0638- -01- 76	long - First \$650.00 55 / each \$35,750.0
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
TC- BASE BID: Curb Type with Paddle Delineator - F 0638- -01- 77	First Offer \$850.00 55 / each \$46,750.0
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:
	<b>Lot Total:</b> \$401,091.0

bid #OCWUT 02-25 - Slope Mower Line Item Tab

#### City of Oklahoma City and its Trusts

#### Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

#### Bid #OCWUT 02-25 - Slope Mower

Start Date Aug 28, 2024 8:10:35 AM CDT Awarded Date Not Yet Awarded

OCWUT 02-2501-01 Slope Mower					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Contour Siera Aebi	First Offer - \$230,198.00	1 / each	\$230,198.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT 02-2501-02 Flail 96 inch					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Contour Siera Aebi	First Offer - \$13,000.00	1 / each	\$13,000.00		Y
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes: Custo	mer specified 88 inch Al	amo mower	•

#### **Supplier Totals**

f Contour Siera Aebi	\$243,198.00 (2/2 items)
Bid Contact STEVE RANKIN steve@contoursierra.com Ph 530-357-3660	Address 17317 Coyote Lane Anderson, CA 96007
Agency Notes:	Supplier Notes: Head Attch:

\*\*All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Dena Smiley	Angee Wagner	Tim Alvarez	
City Clerk	Purchasing Agent	Auditor	

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

9/25/2024 p. 1